
TITLE.:- GRAND PRIX. 

Picture.:- Ten high-powered oars, representing Britain, 
Italy, Germany and Austria, leap off on the 300-miles 
race, the Irish Grand Prix They have to do 
70 laps of 4^ miles each, •••••. Makes me — 

—feel giddy to think of it 1 At many points the 
speed — 

—of thejcars exceeded the hundred-miles an hour. •••••• 

This would mean London-to-Brighton in half an hour, -

—that's if nothing got in the way, of course 1 

If it did, it'd mean London to a much more distance, 
place, in a very much shorter time ! 

After a few laps Sir Eenry Birkin, in his Alfa-Romeo, 
gains a lead, and holds it — 

—despite a heavy thunderstorm which would have upset a 
less experienced driver. 

Here he comes - there he goes I ...... A three-
minute win i 

Sir Henry averaged 88.8. miles an hour Too 
bad his car wasn't a Britisher too ! ...... Still, — 

—it was a fine race, with honours where they are best 
deserved I 


